



New lifetime Shanker Weibull distribution: Structure and Properties

Noor Ebadi Ashoor^{1*} [™], Maysaa Jalil Mohammed² [™] and Umar Yusuf Madaki³ [™]
 ^{1,2}Department of Mathematics, College of Education for Pure Science (Ibn Al-Haitham), University of Baghdad, Baghdad, Iraq.
 ³Department of Mathematics and Statistics, Faculty of Science, Yobe State University Damaturu, Nigeria.
 *Corresponding Author.

Received: 20 November 2023	Accepted: 22 January 2024	Published: 20 April 2025
doi.org/10.30526/38.2.3828		

Abstract

This paper introduces a new model with two parameters titled "Shanker Weibull distribution". This distribution is obtained by merging the Shanker distribution with a scale of one parameter and the Weibull distribution with a shape parameter. First, we present the mathematical structure of the new distribution, which depends on the survival function for each of the Shanker and Weibull distributions. The statistical functions of this new distribution are presented, such as the cumulative, probability density, hazard and survival functions. In addition, we discuss the behavior of the probability density function and the hazard function by mxamining their shape. We also present the statistical properties of this distribution, which include mode, median and moments around the origin. As a result of studying the moments around the origin, we obtain the variance and the first expected value (mean), the moment generating function, the skewness, the kurtosis, the characteristic function, the factorial generating function, the quantile function and the mean time to failure.

Keywords: Shanker distribution, exponential distribution, survival function, moments arond the origin, moment generating function.

1. Introduction

Although the process of mixing the distributions to create a new distribution is not new, it has gone through several stages of development depending on how to choose which distributions to mix (1). All of this is done using the data available to the researcher about the properties and nature of the work of each distribution (2). Many researchers have combined two distributions. For example, in 2015, Rama (3-4) proposed modelling lifetime data with a new one-parameter lifetime distribution, the "Shanker distribution", by combining the 'gamma(2, β) distribution" with the "exponential distribution" where are the (p.d.f.) and the (c.d.f.) of this distribution:

© 2025 The Author(s). Published by College of Education for Pure Science (Ibn Al-Haitham), University of Baghdad. This is an open-access article distributed under the terms of the <u>Creative Commons</u> <u>Attribution 4.0 International License</u>

388

$$f_{SH}(z,\beta) = \frac{\beta^2}{\beta^2 + 1} (\beta + z) e^{-\beta z}; \ z > 0, \beta > 0 \tag{1}$$

$$F_{SH}(z) = 1 - \frac{(\beta^2 + 1) + \beta z}{\beta^2 + 1} e^{-\beta z}$$
(2)

and survival (reliability) function defined as:

$$S_{SH}(z) = \frac{(\beta^2 + 1) + \beta z}{\beta^2 + 1} e^{-\beta z}$$
(3)

Gauss (5), introduced a three-parameter model in 2014, which is a mixture of exponential and Weibull distribution. In addition, the three-parameter lifetime model was first introduced in 2015 by Faton and Ibrahim (6). This is a mixture of Weibull and Rayleigh distribution to obtain a new distribution. The structure was based on PDF integration and the bounds of the integration ranged from zero to the survival function. Suleman (7) presented a new distribution in 2016, which is a mixture of Weibull and Rayleigh distribution. Mohammed, Maysaa and Hussein (8) presented a new mixture distribution of Weibull, Rayleigh and exponential distribution in 2018. In addition, Mundher et al. (9) presented an extension of the Burr type X distribution. Also, Maysaa and Iden (10) estimated the parameters of the new mixture distribution using classical methods. In addition, Ali and Iden (11) estimated the density function using a hybrid Breslow and a semi-symmetric wavelet. Also, Hameed et al. (12) presented the estimation of (Y < X) in the case of the inverse Kumaraswamy distribution. In addition, Maysaa and Ali (13) presented the inverse exponential Rayleigh distribution (IERD). There are many applications of continuous distributions, such as Wang (14), who presents a new model with a bathtub-shaped failure rate using the Burr XII distribution. Moreover, Rama (15) introduced a new distribution that depends on Gama $(3,\theta)$. Moreover, Kilany (16) introduced a weighted Lomax distribution in 2016. In addition, Oguntunde et al. (17) introduced the inverted weighted exponential distribution. Okagbue, et al. (18) also compared some of the estimation methods. Jebur, et al. 2021 (19) also presented the efficient shrinkage estimation method for the generalized inverse Rayleigh distribution. Maysaa and Ali (20) estimated the parameters of the new inverse exponential Rayleigh distribution. Also, Jabar et al. (21), introduced the truncated inverse generalized Rayleigh distribution. Moreover, Mahmood and Iden (22) introduced the comparison between the modified weighted Pareto distribution and other distributions. In addition, Pedro (23) presented a new distribution, the Fréchet distribution. Finally, Lamvaa and Iden (24) introduced a new distribution in 2023, which is a mixture of exponential and Rayleigh distribution. In this paper, we introduce a new mixture of continuous distributions, which we call the 'Shanker-Weibull distribution', by mixing both the 'Shanker distribution' and the 'Weibull distribution' based on the survival function for both distributions. Section 2 describes how we mixed the 'Shanker distribution' with the 'Weibull distribution' to obtain the 'Shanker-Weibull distribution' (SHWD) and introduces the basic statistical functions such as the probability density function, the commutative density function, the survival function and the hazard rate function. Finally, Section 3 presents the statistical and mathematical properties of the new distribution, such as mode, median, moments around the origin, mean, variance, skewness coefficient, kurtosis coefficient, characteristic function, moment generation function, factorial moment generation function and mean time to failure.

2. Materials and Methods

2.1. Structure of New Shanker Weibull distribution

Equations (1and 2) represent the pdf and cdf of the Shanker distribution. In addition, the pdf, cdf, and the survival function of standard Weibull distribution are(25)

$$\begin{split} f_{W}(v) &= \lambda v^{\lambda-1} e^{-v^{\lambda}}, \lambda > 0, v > 0 \end{split} \tag{4} \\ F_{W}(v) &= 1 - e^{-v^{\lambda}} \\ S_{w}(v) &= e^{-v^{\lambda}} \end{split} \tag{5}$$

Let Z, and V are independent random variables and X = min(Z, V)

 $S(x) = p_r(X > x) = p_r(min(Z, V) > x),$

because Z and V are independent random variables then :

$$S_{(SHWD)}(x) = p_r(Z > x) \cdot p_r(V > x) = (1 - p_r(Z \le x)) \cdot (1 - p_r(V \le x))$$

= $(1 - F_{sh}(z)) \cdot (1 - F_w(v)) = S_{sh}(x) \cdot S_w(x)$

From equations (3) and (5) we get:

$$S_{(SHWD)}(x) = \frac{(\beta^2 + 1) + \beta x}{\beta^2 + 1} e^{-(\beta x + x^{\lambda})}$$
(6)

Where x > 0, and $\beta > 0$ is the scale parameter, $\lambda > 0$ is the shape parameter.

The (cdf) of the new (SHWD) distribution is:

$$F(x) = 1 - \left(\frac{(\beta^2 + 1) + \beta x}{\beta^2 + 1} e^{-(\beta x + x^{\lambda})}\right)$$
(7)

Therefore, the pdf of the new (SHWD) is:

$$f(x) = \left(\frac{(\beta^2 + 1) + \beta x}{\beta^2 + 1} \left(\beta + \lambda x^{\lambda - 1}\right) - \frac{\beta}{(\beta^2 + 1)}\right) e^{-(\beta x + x^{\lambda})}$$
(8)

f(x) is a probability density function, since, $\beta > 0$, $\lambda > 0$, and x > 0, which implies that f(x) > 0.

Now, to prove that $\int_0^\infty f(x) dx = 1$,

$$\int_{0}^{\infty} f(x)dx = \int_{0}^{\infty} \left(\frac{\beta x + \beta^{2} + 1}{\beta^{2} + 1} \left(\beta + \lambda x^{\lambda - 1}\right) - \frac{\beta}{\beta^{2} + 1}\right) e^{-(\beta x + x^{\lambda})} dx$$

$$\int_{0}^{\infty} f(x)dx = \lim_{y \to \infty} \left(\int_{0}^{y} \left(\frac{\beta x + \beta^{2} + 1}{\beta^{2} + 1} \left(\beta + \lambda x^{\lambda - 1}\right) - \frac{\beta}{\beta^{2} + 1}\right) e^{-(\beta x + x^{\lambda})} dx\right)$$

$$= \lim_{y \to \infty} \frac{1}{\beta^{2} + 1} \left(\int_{0}^{y} (\beta x + \beta^{2} + 1) \left(\beta + \lambda x^{\lambda - 1}\right) e^{-(\beta x + x^{\lambda})} dx - \int_{0}^{y} \beta e^{-(\beta x + x^{\lambda})} dx\right)$$

$$u = (\beta x + \beta^{2} + 1) \Rightarrow du = \beta dx$$

$$\begin{aligned} u &= (\beta x + \beta^{-} + 1) \Rightarrow uu = \beta ux \\ dv &= (\beta + \lambda x^{\lambda - 1})e^{-(\beta x + x^{\lambda})}dx \Rightarrow v = -e^{-(\beta x + x^{\lambda})} \\ \int_{0}^{\infty} f(x) \, dx &= \lim_{y \to \infty} \frac{1}{\beta^{2} + 1} \left(\left(-(\beta x + \beta^{2} + 1)e^{-(\beta x + x^{\lambda})} \right)_{0}^{y} + \int_{0}^{y} \beta e^{-(\beta x + x^{\lambda})} \, dx \\ &- \int_{0}^{y} \beta e^{-(\beta x + x^{\lambda})} \, dx \right) = -\lim_{y \to \infty} \left(\frac{(\beta y + \beta^{2} + 1)}{\beta^{2} + 1)e^{(\beta y + y^{\lambda})}} - \frac{\beta^{2} + 1}{\beta^{2} + 1} \right) \end{aligned}$$

By using L'Hopital's - Role for the above limit,

$$\int_{0}^{\infty} f(x) dx = -\lim_{y \to \infty} \left(\frac{\beta}{(\beta^2 + 1)(\beta + \lambda y^{\lambda - 1})e^{(\beta y + y^{\lambda})}} - 1 \right) = -\frac{\beta}{\infty} + 1 = 1$$

Based on what was stated above, the hazard function can be defined as follows:

$$h(x) = \frac{f(x)}{S(x)} = \frac{\left((\beta x + \beta^2 + 1)(\beta + \lambda x^{\lambda - 1}) - \beta\right)\frac{1}{(\beta^2 + 1)}e^{-(\beta x + x^{\lambda})}}{(\beta x + \beta^2 + 1)\frac{1}{(\beta^2 + 1)}e^{-(\beta x + x^{\lambda})}}$$
$$h(x) = \left(\beta + \lambda x^{\lambda - 1}\right) - \frac{\beta}{(\beta x + \beta^2 + 1)}$$
(9)

2.1.1. The shapes of the new Shanker Weibull distribution

Knowing the shape of the (SHWD) helps us understand the behavior and approach of distribution functions in dealing with data, to understand this mathematically, especially through the limit values of the probability density and hazard functions when $(x \rightarrow 0 \& x \rightarrow \infty)$.

$$\begin{split} \lim_{x \to 0} f(x) &= \lim_{x \to 0} \left((\beta x + \beta^2 + 1) (\beta + \lambda x^{\lambda - 1}) - \beta \right) \frac{1}{(\beta^2 + 1)} e^{-(\beta x + x^{\lambda})} = \frac{\beta^3}{(\beta^2 + 1)} \\ \lim_{x \to \infty} f(x) &= \lim_{x \to \infty} \left((\beta x + \beta^2 + 1) (\beta + \lambda x^{\lambda - 1}) - \beta \right) \frac{1}{(\beta^2 + 1)} e^{-(\beta x + x^{\lambda})} \\ &= \lim_{x \to \infty} \frac{(\beta x + \beta^2 + 1) (\beta + \lambda x^{\lambda - 1})}{(\beta^2 + 1) e^{(\beta x + x^{\lambda})}} - \lim_{x \to \infty} \frac{\beta}{(\beta^2 + 1) e^{(\beta x + x^{\lambda})}} \\ &= \lim_{x \to \infty} \frac{(\beta x + \beta^2 + 1) (\beta + \lambda x^{\lambda - 1})}{(\beta^2 + 1) e^{(\beta x + x^{\lambda})}} - \frac{\beta}{\infty} = \lim_{x \to \infty} \frac{(\beta x + \beta^2 + 1) (\beta + \lambda x^{\lambda - 1})}{(\beta^2 + 1) e^{(\beta x + x^{\lambda})}} \end{split}$$

Applied L'Hospital's Rule:

$$\lim_{x \to \infty} f(x) = \lim_{x \to \infty} \frac{(\beta x + \beta^2 + 1)(\beta + \lambda x^{\lambda - 1})(\lambda(\lambda - 1)x^{\lambda - 2}) - \beta(\beta + \lambda x^{\lambda - 1})}{(\beta^2 + 1)(\beta + \lambda x^{\lambda - 1})e^{(\beta x + x^{\lambda})}}$$

As we continue to derive for x the result of the numerator will be equal constant as considered an integer value for x and as contained to derive the denominator it always contains the exponential part which is equal to $\infty \operatorname{as}(x \to \infty)$. The final result of the limit is a constant divide by ∞ which equal to zero

$$\begin{split} & \lim_{x \to \infty} f(x) = 0. \\ & \lim_{x \to 0} h(x) = \lim_{x \to 0} \left(\left(\beta + \lambda x^{\lambda - 1} \right) - \frac{\beta}{\beta x + \beta^2 + 1} \right) = \frac{\beta^3}{\beta^2 + 1} \\ & \lim_{x \to \infty} h(x) = \lim_{x \to \infty} \left(\left(\beta + \lambda x^{\lambda - 1} \right) - \frac{\beta}{\beta x + \beta^2 + 1} \right) = \infty \end{split}$$



Figure 1. The shape of pdf for new Shanker Weibull distribution with different values of β and λ .



Figure 2. The shape of cdf for new Shanker Weibull distribution with different values of β and λ .



Figure 3. The shape of S(x) for new Shanker Weibull distribution with different values of λ and β .



Figure 4. The shape of h(x) for new Shanker Weibull distribution with different values of λ and β .

In the special case, if $\lambda = 1$, then the distribution becomes the Shanker exponential distribution, also if $\beta = 0$, then the distribution becomes Weibull distribution.

2.2. Mathematical and statistical properties of SHWD

2.2.1. The Mode

The mod is defined as the point at which the probability density function achieves its maximum value, the mode of (SHWD) is obtained as follows:

$$f(x) = \left(\beta^2 x + \beta \lambda x^{\lambda} + \beta^3 + \beta^2 \lambda x^{\lambda-1} + \lambda x^{\lambda-1}\right) \frac{1}{(\beta^2 + 1)} e^{-(\beta x + x^{\lambda})}$$
$$\frac{\partial f(x)}{\partial x} = \left(\left(\beta^2 + \beta \lambda^2 x^{\lambda-1} + \beta^2 \lambda (\lambda - 1) x^{\lambda-2} + \lambda (\lambda - 1) x^{\lambda-2}\right) - \left(\beta^2 x + \beta \lambda x^{\lambda} + \beta^3 + \beta^2 \lambda x^{\lambda-1} + \lambda x^{\lambda-1}\right) (\beta + \lambda x^{\lambda-1})\right) \frac{1}{(\beta^2 + 1)} e^{-(\beta x + x^{\lambda})}$$
$$= 0$$

Since that $\frac{e^{-(\beta x + x^{\Lambda})}}{(\beta^2 + 1)} \neq 0$ for each selected value of β , λ , and x, This leads to the following:

$$\left(\beta^2 + \beta\lambda^2 x^{\lambda-1} + \beta^2\lambda(\lambda-1)x^{\lambda-2} + \lambda(\lambda-1)x^{\lambda-2}\right) - \left(\beta^2 x + \beta\lambda x^{\lambda} + \beta^3 + \beta^2\lambda x^{\lambda-1} + \lambda x^{\lambda-1}\right)\left(\beta + \lambda x^{\lambda-1}\right) = 0$$

This is a polynomial of degree $(\lambda - 2)$ and if $\lambda = 1$ that will imply the following: $((\beta^2 + \beta) - (\beta^2 x + \beta x + \beta^3 + \beta^2 + 1)(\beta + 1)) = 0$

$$(\beta^{2} + \beta) - (\beta^{3}x + \beta^{2}x + \beta^{4} + \beta^{3} + \beta + \beta^{2}x + \beta x + \beta^{3} + \beta^{2} + 1) = 0$$

-(\beta^{3} + 2\beta^{2} + \beta)x = \beta^{4} + 2\beta^{3} + 1
$$x = \frac{-(\beta^{4} + 2\beta^{3} + 1)}{(\beta^{3} + 2\beta^{2} + \beta)}$$

2.2.2. Quantile Function

Let *X* be a continuous random variable distributed with "SHWD" then the Quantile function is defined as given:

Let
$$F(x) = u, u \sim U(0,1)$$
, then $F(x) = U, x = F^{-1}(u)$
 $\left(1 - \frac{\beta x + \beta^2 + 1}{\beta^2 + 1} \cdot e^{-(\beta x + x^{\lambda})}\right) = u$
 $-\left(1 - \frac{\beta x + \beta^2 + 1}{\beta^2 + 1} \cdot e^{-(\beta x + x^{\lambda})}\right) = u - 1$
 $1 - u = \frac{\beta x + \beta^2 + 1}{\beta^2 + 1} \cdot e^{-(\beta x + x^{\lambda})}, \lambda = 1$

For Lambert form (26-27)

$$(1-u)(\beta^{2}+1) = (\beta x + \beta^{2}+1) \cdot e^{-(\beta x+x)}$$
Where, $x = \frac{\beta b - (-\beta - 1)(\beta^{2}+1)}{\beta(-\beta - 1)}$
Hence the value of $b = (-\beta - 1)x + \frac{(\beta^{2}+1)(-\beta - 1)}{\beta}$

$$(1-u)(\beta^{2}+1) = \left(\beta(\frac{(\beta b - (-\beta - 1)(\beta^{2}+1))}{\beta(-\beta - 1)}) + \beta^{2}+1\right)e^{\frac{\beta b - (-\beta - 1)(\beta^{2}+1)}{\beta(-\beta - 1)}}$$

$$(1-u)(\beta^{2}+1) = (\frac{-\beta b}{-\beta - 1} - \frac{(-\beta - 1)(\beta^{2}+1)}{(-\beta - 1)} + \beta^{2}+1)e^{\frac{\beta b - (-\beta - 1)(\beta^{2}+1)}{\beta}}$$

$$(1-u)(\beta^{2}+1)(-\beta - 1) = \beta b \cdot e^{\frac{\beta b}{\beta}} \cdot e^{\frac{-(-\beta - 1)(\beta^{2}+1)}{\beta}}$$

$$(1-u)(\beta^{2}+1)(-\beta - 1) = \beta b \cdot e^{b} \cdot e^{\frac{-(-\beta - 1)(\beta^{2}+1)}{\beta}}$$

$$(1-u)(\beta^{2}+1)(-\beta - 1)e^{\frac{(-\beta - 1)(\beta^{2}+1)}{\beta}} = \beta b \cdot e^{b}$$

$$(1-u)(\beta^{2}+1)(-\beta - 1)e^{\frac{(-\beta - 1)(\beta^{2}+1)}{\beta}} = b \cdot e^{b}$$

$$W\left(be^{b} = \frac{(1-u)(\beta^{2}+1)(-\beta - 1)}{\beta} \cdot e^{\frac{(-\beta - 1)(\beta^{2}+1)}{\beta}}\right)$$

$$b = W\left(\frac{(1-u)(\beta^{2}+1)(-\beta - 1)}{\beta} \cdot e^{\frac{(-\beta - 1)(\beta^{2}+1)}{\beta}}\right)$$

Since

$$b = (-\beta - 1)x + \frac{(\beta^2 + 1)(-\beta - 1)}{\beta}$$

$$(-\beta - 1)x + \frac{(\beta^2 + 1)(-\beta - 1)}{\beta} = W\left(\frac{(1 - u)(\beta^2 + 1)(-\beta - 1)}{\beta} \cdot e^{\frac{(-\beta - 1)(\beta^2 + 1)}{\beta}}\right)$$

$$(-\beta - 1)x = W\left(\frac{(1 - u)(\beta^2 + 1)(-\beta - 1)}{\beta} \cdot e^{\frac{(-\beta - 1)(\beta^2 + 1)}{\beta}}\right) - \frac{(\beta^2 + 1)(-\beta - 1)}{\beta}$$

$$x = \frac{W\left(\frac{(1 - u)(\beta^2 + 1)(-\beta - 1)}{\beta} \cdot e^{\frac{(-\beta - 1)(\beta^2 + 1)}{\beta}}\right) - \frac{(-\beta - 1)(\beta^2 + 1)}{\beta}}{(-\beta - 1)}.$$
(10)

A special case from quantity function (10) is the median whene $u = \frac{1}{2}$.

$$x = \frac{W\left(\frac{\left(1-\frac{1}{2}\right)(\beta^{2}+1)(-\beta-1)}{\beta}e^{\frac{(-\beta-1)(\beta^{2}+1)}{\beta}}\right) - \frac{(-\beta-1)(\beta^{2}+1)}{\beta}}{(-\beta-1)}}{W\left(\frac{\left(\frac{1}{2}\right)(\beta^{2}+1)(-\beta-1)}{\beta}e^{\frac{(-\beta-1)(\beta^{2}+1)}{\beta}}\right) - \frac{(-\beta-1)(\beta^{2}+1)}{\beta}}{(-\beta-1)}$$

2.2.3. Moments about the origin

One of the most important distribution properties is moments, as they play a role in the determination of many other distribution properties, such as (mean, variance, skewness, and kurtosis).

The moments of (SHWD) can be determined as follows:

$$\begin{split} M_r'(x) &= \int_0^\infty x^r f(x) dx \\ &= \int_0^\infty x^r \left(\beta e^{-(\beta x + x^\lambda)} + \lambda x^{\lambda - 1} e^{-(\beta x + x^\lambda)} + \frac{\beta^2 x}{\beta^2 + 1} e^{-(\beta x + x^\lambda)} \right. \\ &\quad + \frac{\beta \lambda x^\lambda}{\beta^2 + 1} e^{-(\beta x + x^\lambda)} - \frac{\beta}{\beta^2 + 1} e^{-(\beta x + x^\lambda)} \right) dx \\ Let \ e^{-x^\lambda} &= \sum_{j=0}^\infty \frac{(-1)^j}{j!} x^{\lambda j} \ (28) \end{split}$$

$$\int_{0}^{\infty} x^{r} f(x) dx = \sum_{j=0}^{\infty} \frac{(-1)^{j}}{j!} \left(\int_{0}^{\infty} \beta x^{r+\lambda j} e^{-\beta x} dx + \int_{0}^{\infty} \lambda x^{r+\lambda(j+1)-1} e^{-\beta x} dx \right)$$
$$+ \int_{0}^{\infty} \frac{\beta^{2}}{\beta^{2}+1} x^{r+\lambda j+1} e^{-\beta x} dx + \int_{0}^{\infty} \frac{\beta \lambda}{\beta^{2}+1} x^{r+\lambda(j+1)} e^{-\beta x} dx$$
$$- \int_{0}^{\infty} \frac{\beta}{\beta^{2}+1} x^{r+\lambda j} e^{-\beta x} dx \right)$$

Let $\beta x = y$, then $x = \frac{y}{\beta}$ and $dx = \frac{dy}{\beta}$, and since $\Gamma_{(\beta)} = \int_0^\infty x^{\beta-1} e^{-x} dx$.

$$M_{r}'(x) = \sum_{j=0}^{\infty} \frac{(-1)^{j}}{j!} \left(\frac{1}{\beta^{r+\lambda j}} \int_{0}^{\infty} y^{r+\lambda j} e^{-y} dy + \frac{\lambda}{\beta^{r+\lambda(j+1)}} \int_{0}^{\infty} y^{r+\lambda(j+1)-1} e^{-y} dy \right. \\ \left. + \frac{\beta}{(\beta^{2}+1)\beta^{r+\lambda j+1}} \int_{0}^{\infty} y^{r+\lambda j+1} e^{-y} dy + \frac{\lambda}{(\beta^{2}+1)\beta^{r+\lambda(j+1)}} \int_{0}^{\infty} y^{r+\lambda(j+1)} e^{-y} dy \right. \\ \left. - \frac{1}{(\beta^{2}+1)\beta^{r+\lambda j}} \int_{0}^{\infty} y^{r+\lambda j} e^{-y} dy \right)$$
$$M_{r}'(x) = \sum_{j=0}^{\infty} \frac{(-1)^{j} \left(\frac{\Gamma(r+\lambda j+1)}{2} + \frac{\lambda \cdot \Gamma(r+\lambda(j+1))}{2} + \frac{\Gamma(r+\lambda j+1) - \Gamma(r+\lambda j+2)}{2} + \frac{\lambda \cdot \Gamma(r+\lambda(j+1)+1)}{2} \right)$$
(11)

 $M'_{r}(x) = \sum_{j=0}^{\infty} \frac{(-1)^{j}}{j!} \left(\frac{\Gamma(r+\lambda j+1)}{\beta^{r+\lambda j}} + \frac{K^{r}(r+\lambda (j+1))}{\beta^{r+\lambda (j+1)}} + \frac{\Gamma(r+\lambda j+1)^{-1}(r+\lambda j+2)}{(\beta^{2}+1)\beta^{r+\lambda j}} + \frac{K^{r}(r+\lambda (j+1)+1)}{(\beta^{2}+1)\beta^{r+\lambda (j+1)}} \right)$ (11) As a direct result, it can be found $E(x) = M'_{1}(x), \ E(x^{2}) = M'_{2}(x), \text{ and } var(x) \text{ as follows:}$

$$E(x) = \sum_{j=0}^{\infty} \frac{(-1)^{j}}{j!} \left(\frac{\Gamma_{(\lambda j+2)}}{\beta^{\lambda j+1}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+1)}}{\beta^{\lambda(j+1)+1}} + \frac{\Gamma_{(\lambda j+2)} - \Gamma_{(\lambda j+3)}}{(\beta^{2}+1)\beta^{\lambda j+1}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+2)}}{(\beta^{2}+1)\beta^{\lambda(j+1)+1}} \right)$$

$$E(x^{2}) = \sum_{j=0}^{\infty} \frac{(-1)^{j}}{j!} \left(\frac{\Gamma_{(\lambda j+3)}}{\beta^{\lambda j+2}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+2)}}{\beta^{\lambda(j+1)+2}} + \frac{\Gamma_{(\lambda j+3)} - \Gamma_{(\lambda j+4)}}{(\beta^{2}+1)\beta^{\lambda j+2}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+3)}}{(\beta^{2}+1)\beta^{r+\lambda(j+1)+2}} \right)$$

$$var(x) = M'_{2}(x) - \left(M'_{1}(x)\right)^{2}$$

2.2.4. Coefficients of Skewness and Kurtosis

Depending on the moment, the coefficient skewness (C.S) and kurtosis(C.K) can be found through the following formulas(29):

$$\begin{split} M'_{3}(x) &= \sum_{j=0}^{\infty} \frac{(-1)^{j}}{j!} \left(\frac{\Gamma_{(\lambda j+4)}}{\beta^{\lambda j+3}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+3)}}{\beta^{\lambda(j+1)+3}} + \frac{\Gamma_{(\lambda j+4)} - \Gamma_{(\lambda j+5)}}{(\beta^{2}+1)\beta^{\lambda j+3}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+4)}}{(\beta^{2}+1)\beta^{r+\lambda(j+1)+3}} \right) \\ C.S &= \frac{M'_{3}}{(M'_{2})^{\frac{3}{2}}} \\ M'_{4}(x) &= \sum_{i=0}^{\infty} \frac{(-1)^{i}}{i!} \left(\frac{\Gamma_{(\lambda j+5)}}{\beta^{\lambda j+4}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+4)}}{\beta^{\lambda(j+1)+4}} + \frac{\Gamma_{(\lambda j+5)} - \Gamma_{(\lambda j+6)}}{(\beta^{2}+1)\beta^{\lambda j+4}} + \frac{\lambda \cdot \Gamma_{(\lambda(j+1)+5)}}{(\beta^{2}+1)\beta^{\lambda(j+1)+4}} \right) \\ C.K &= \frac{M'_{4}}{(M'_{2})^{2}} - 3 \end{split}$$

Table 1. The first - fourth moments, variance, skewness, and kurtosis for the distribution

β	λ	μ'_1	μ_2'	μ'_3	μ'_4	K	S	var
2	0.5	0.3222	0.2719	0.3665	0.6762	6.1462	2.5849	0.1681
	0.3	0.2879	0.2668	0.3952	0.7962	8.1838	2.8673	0.1839
0.5	0.9	0.8598	1.5289	4.0855	14.5190	3.2110	2.1610	0.7897
	1.2	0.8255	1.1479	2.1874	5.2296	0.9687	1.7785	0.4664
2.5	2	0.3579	0.2177	0.1765	0.1739	0.6687	1.7376	0.0896
	3	0.3754	0.2303	0.1792	0.1620	0.0543	1.6218	0.0893

Since the values of skewness are positive, the distribution is skewed to the right according to the given data values. The flatness depends on the values of the given characteristics. Sometimes it is flattened for values above 3, and sometimes it is peaked for values below 3.

2.2.5. Characteristic Function

 ∞

$$\begin{split} \phi_x(it) &= E\left(e^{itx}\right) = \int_0^\infty e^{itx} f(x) \, dx \\ &= \int_0^\infty e^{itx} \left(1 + \frac{\beta x}{\beta^2 + 1}\right) \left(\beta + \lambda x^{\lambda - 1}\right) - \frac{\beta}{\beta^2 + 1}\right) e^{-(\beta x + x^{\lambda})} \, dx \\ Let \, e^{-x^{\beta}} &= \sum_{n=0}^\infty \frac{(-1)^n}{n!} x^{\lambda n} \\ \phi_x(it) &= \sum_{n=0}^\infty \frac{(-1)^n}{n!} \left(\int_0^\infty \beta x^{\beta n} \ e^{-(\beta - it)x} dx + \int_0^\infty \lambda x^{\lambda n + \lambda - 1} \ e^{-(\beta - it)x} dx \\ &+ \int_0^\infty \left(\frac{\beta^2}{\beta^2 + 1}\right) x^{\lambda n + 1} \ e^{-(\beta - it)x} dx + \int_0^\infty \left(\frac{\beta \lambda}{\beta^2 + 1}\right) x^{\lambda n + \lambda} \ e^{-(\beta - it)x} dx \\ &- \int_0^\infty \left(\frac{\beta}{\beta^2 + 1}\right) x^{\lambda n} \ e^{-(\beta - it)x} dx \Big) \end{split}$$

$$Let (\beta - it)x = y, and x = \frac{y}{\beta - it} then dx = \frac{dy}{\beta - it}$$

$$\phi_x(it) = \sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \left(\frac{\beta}{(\beta - it)^{\lambda n+1}} \int_0^{\infty} y^{\lambda n} e^{-y} dy + \frac{\lambda}{(\beta - it)^{\lambda n+\lambda}} \int_0^{\infty} y^{\lambda n+\lambda-1} e^{-y} dy + \frac{\beta^2}{(\beta^2 + 1)(\beta - it)^{\lambda n+2}} \int_0^{\infty} y^{\lambda n+1} e^{-y} dy + \frac{\beta\lambda}{(\beta^2 + 1)(\beta - it)^{\lambda n+\lambda+1}} \int_0^{\infty} y^{\lambda n+\lambda} e^{-y} dy - \frac{\beta^2}{(\beta^2 + 1)(\beta - it)^{\lambda n+1}} \int_0^{\infty} y^{\lambda n} e^{-y} dy \right)$$

$$\phi_x(it) = \sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \left(\frac{\beta \cdot \Gamma_{(\lambda n+1)}}{(\beta - it)^{\lambda n+1}} + \frac{\lambda \cdot \Gamma_{(\lambda n+\lambda)}}{(\beta - it)^{\lambda n+\lambda}} + \frac{\beta^2 \cdot \Gamma_{(\lambda n+2)}}{(\beta^2 + 1)(\beta - it)^{\lambda n+2}} + \frac{\beta\lambda \cdot \Gamma_{(\lambda n+\lambda+1)}}{(\beta^2 + 1)(\beta - it)^{\lambda n+\lambda+1}} - \frac{\beta^2 \cdot \Gamma_{(\lambda n+1)}}{(\beta^2 + 1)(\beta - it)^{\lambda n+1}} \right)$$

2.2.6. Moment Generating Function $_{\infty}^{\infty}$

$$\begin{split} M_x(t) &= E(e^{tx}) = \int_0^\infty e^{tx} f(x) \, dx \\ &= \int_0^\infty e^{tx} \left(1 + \frac{\beta x}{\beta^2 + 1} \right) \left(\beta + \lambda x^{\lambda - 1} \right) - \frac{\lambda}{\lambda^2 + 1} \right) e^{-(\beta x + x^{\lambda})} \, dx \\ Let \ e^{-x^{\beta}} &= \sum_{k=0}^\infty \frac{(-1)^k}{k!} x^{\lambda k} \\ M_x(t) &= \sum_{k=0}^\infty \frac{(-1)^k}{k!} \left(\int_0^\infty \beta x^{\lambda k} \ e^{-(\beta - t)x} dx + \int_0^\infty \lambda x^{\lambda k + \lambda - 1} \ e^{-(\beta - t)x} dx \right) \\ &+ \int_0^\infty \left(\frac{\beta^2}{\beta^2 + 1} \right) x^{\lambda k + 1} \ e^{-(\beta - t)x} dx + \int_0^\infty \left(\frac{\beta \lambda}{\beta^2 + 1} \right) x^{\lambda k + \lambda} \ e^{-(\beta - t)x} dx \\ &- \int_0^\infty \left(\frac{\beta}{\beta^2 + 1} \right) x^{\lambda k} \ e^{-(\beta - t)x} dx \right) \\ Let \ (\beta - t)x = y, and \ x = \frac{y}{\beta - t} then \ dx = \frac{dy}{\beta - t} \end{split}$$

$$\begin{split} M_{x}(t) &= \sum_{k=0}^{\infty} \frac{(-1)^{k}}{k!} \Biggl(\frac{\beta}{(\beta-t)^{\lambda k+1}} \int_{0}^{\infty} y^{\lambda k} \ e^{-y} dy + \frac{\beta}{(\beta-t)^{\lambda k+\lambda}} \int_{0}^{\infty} y^{\lambda k+\lambda-1} \ e^{-y} dy \\ &+ \frac{\beta^{2}}{(\beta^{2}+1)(\beta-t)^{\lambda k+2}} \int_{0}^{\infty} y^{\lambda k+1} \ e^{-y} dy \\ &+ \frac{\beta\lambda}{(\beta^{2}+1)(\beta-t)^{\lambda k+\lambda+1}} \int_{0}^{\infty} y^{\lambda k} \ e^{-y} dy \\ &- \frac{\beta^{2}}{(\beta^{2}+1)(\beta-t)^{\lambda k+1}} \int_{0}^{\infty} y^{\lambda k} \ e^{-y} dy \Biggr) \\ M_{x}(t) &= \sum_{k=0}^{\infty} \frac{(-1)^{k}}{k!} \Biggl(\frac{\beta \cdot \Gamma_{(\lambda k+1)}}{(\beta-t)^{\lambda k+1}} + \frac{\lambda \cdot \Gamma_{(\lambda k+\beta)}}{(\beta-t)^{\lambda k+\beta}} + \frac{\beta^{2} \cdot \Gamma_{(\lambda k+2)}}{(\beta^{2}+1)(\beta-t)^{\lambda k+2}} \\ &+ \frac{\beta\lambda \cdot \Gamma_{(\lambda k+\lambda+1)}}{(\beta^{2}+1)(\beta-t)^{\lambda k+\lambda+1}} - \frac{\beta^{2} \cdot \Gamma_{(\lambda k+1)}}{(\beta^{2}+1)(\beta-t)^{\lambda k+1}} \Biggr) \end{split}$$

2.2.7. Factorial Moments Generating Function $_\infty$

$$\begin{split} \mathcal{M}_{x}(t) &= E(t^{x}) = \int_{0}^{\infty} t^{x} f(x) dx \\ &= \int_{0}^{\infty} e^{x \ln t} \left(1 + \frac{\beta x}{\beta^{2} + 1} \right) \left(\beta + \lambda x^{\lambda - 1} \right) - \frac{\beta}{\beta^{2} + 1} \right) e^{-(\beta x + x^{\lambda})} dx \\ &= \int_{0}^{\infty} \left(1 + \frac{\beta x}{\beta^{2} + 1} \right) \left(\beta + \lambda x^{\lambda - 1} \right) - \frac{\beta}{\beta^{2} + 1} \right) e^{-((\beta - \ln t)x + x^{\lambda})} dx \\ Let \ e^{-x^{\beta}} &= \sum_{s=0}^{\infty} \frac{(-1)^{s}}{s!} x^{\lambda s} \\ \mathcal{M}_{x}(t) &= \sum_{s=0}^{\infty} \frac{(-1)^{s}}{s!} \left(\int_{0}^{\infty} \beta x^{\lambda s} \ e^{-(\beta - \ln t)x} dx + \int_{0}^{\infty} \lambda x^{\lambda s + \lambda - 1} \ e^{-(\beta - \ln t)x} dx \\ &+ \int_{0}^{\infty} \left(\frac{\beta^{2}}{\beta^{2} + 1} \right) x^{\lambda s + 1} \ e^{-(\beta - \ln t)x} dx + \int_{0}^{\infty} \left(\frac{\beta \lambda}{\beta^{2} + 1} \right) x^{\lambda s + \lambda} \ e^{-(\beta - \ln t)x} dx \\ &- \int_{0}^{\infty} \left(\frac{\beta}{\beta^{2} + 1} \right) x^{\lambda s} \ e^{-(\beta - \ln t)x} dx \\ &\qquad Let \ (\beta - \ln t)x = y, and \ x = \frac{y}{\beta - \ln t} then \ dx = \frac{dy}{\beta - \ln t} \end{split}$$

$$\begin{aligned} \mathcal{M}_{x}(t) &= \sum_{s=0}^{\infty} \frac{(-1)^{s}}{s!} \Biggl(\frac{\beta}{(\beta - lnt)^{\lambda s + 1}} \int_{0}^{\infty} y^{\lambda s} \ e^{-y} dy + \frac{\lambda}{(\beta - lnt)^{\lambda s + \lambda}} \int_{0}^{\infty} y^{\lambda s + \lambda - 1} \ e^{-y} dy \\ &+ \frac{\beta^{2}}{(\beta^{2} + 1)(\beta - lnt)^{\lambda s + 2}} \int_{0}^{\infty} y^{\lambda s + 1} \ e^{-y} dy \\ &+ \frac{\beta\lambda}{(\beta^{2} + 1)(\beta - lnt)^{\lambda s + \lambda + 1}} \int_{0}^{\infty} y^{\lambda s + \lambda} \ e^{-y} dy \\ &- \frac{\beta}{(\beta^{2} + 1)(\beta - lnt)^{\lambda s + 1}} \int_{0}^{\infty} y^{\lambda s} \ e^{-y} dy \Biggr) \end{aligned}$$
$$\mathcal{M}_{x}(t) = \sum_{s=0}^{\infty} \frac{(-1)^{s}}{s!} \Biggl(\frac{\beta \cdot \Gamma_{(\lambda s + 1)}}{(\beta - lnt)^{\lambda s + 1}} + \frac{\lambda \cdot \Gamma_{(\lambda s + \lambda)}}{(\beta - lnt)^{\lambda s + \lambda}} + \frac{\beta^{2} \cdot \Gamma_{(\lambda s + 2)}}{(\beta^{2} + 1)(\beta - lnt)^{\lambda s + 2}} \end{aligned}$$

$$+\frac{\beta\lambda\cdot\Gamma_{(\lambda s+\lambda+1)}}{(\beta^2+1)(\beta-lnt)^{\lambda s+\lambda+1}}-\frac{\beta\cdot\Gamma_{(\lambda s+1)}}{(\beta^2+1)(\beta-lnt)^{\lambda s+1}}\right)$$

2.2.8. Mean time to failure

Let *T* denote the lifetime of a component, the $S_{(SHWD)}(x) = \Pr(T > x)$ [30] $S_{(SHWD)}(x) = \Pr(T > x)$ Since $S_{(SHWD)}(x) \to 0$ at $t \to \infty$, then is given by: $MTTE = \int_0^\infty S_{(SHWD)}(x) dx = \int_0^\infty (1 + \frac{\beta x}{\beta^2 + 1})e^{-(\beta x + x^{\lambda})} dx$ Recall that, $e^{-x\beta} = \sum_{j=0}^\infty \frac{(-1)^j}{j!} x^{\lambda j}$ $MTTE = \sum_{j=0}^\infty \frac{(-1)^j}{j!} \left(\int_0^\infty x^{\lambda j} \cdot e^{-\beta x} dx + \frac{\beta}{\beta^2 + 1} \int_0^\infty x^{\lambda j + 1} \cdot e^{-\beta x} dx \right)$ Let $\beta x = y$ then $x = \frac{y}{\beta}$ and $dx = \frac{dy}{\beta}$ $MTTE = \sum_{j=0}^\infty \frac{(-1)^j}{j!} \left(\int_0^\infty \left(\frac{y}{\beta} \right)^{\lambda j} \cdot e^{-y} \frac{dy}{\beta} + \frac{\beta}{\beta^2 + 1} \int_0^\infty \left(\frac{y}{\beta} \right)^{\lambda j + 1} \cdot e^{-y} \frac{dy}{\beta} \right)$ $= \sum_{j=0}^\infty \frac{(-1)^j}{j!} \left(\frac{1}{\beta^{\lambda j + 1}} \int_0^\infty y^{\lambda j} \cdot e^{-y} dy + \frac{1}{(\beta^2 + 1)\beta^{\lambda j + 1}} \int_0^\infty y^{\lambda j + 1} \cdot e^{-y} dy \right)$ $MTTE = \sum_{j=0}^\infty \frac{(-1)^j}{j!} \left(\frac{1}{\beta^{\lambda j + 1}} \int_0^\infty y^{\lambda j} \cdot e^{-y} dy + \frac{1}{(\beta^2 + 1)\beta^{\lambda j + 1}} \cdot \Gamma_{(\lambda j + 2)} \right)$

3. Conclusion

A new statistical lifetime distribution was introduced, which is a mixture of Shanker and Weibull distribution depending on their survival functions and is called "Shanker-Weibull distribution". In addition, the shape of pdf, cdf and the hazard function were discussed. In addition, the basic statistical and mathematical properties of the new distribution such as mode, median, the rth moments around the origin and the moment generating function were described.

Acknowledgments

Our researcher extends his Sincere thanks to the editor and members of the preparatory committee of the Ibn AL-Haitham Journal of Pure and Applied Sciences.

Conflict of Interest

There are no conflicts of interest.

Funding

There is no funding for the article.

References

- Gupta RD, Kundu D. A New Class of Weighted Exponential Distributions. Statistics. 2009;43(6):621– 634. <u>https://doi.org/10.1080/02331880802605346.</u>
- Khongthip P, Patummasut M, Bodhisuwan W. The Discrete Weighted Exponential Distribution and Its Applications. Songklanakarin Journal of Science and Technology.2018;40(5):1105–1114. <u>https://doi.org/10.14456/sjst-psu.2018.137.</u>
- 3. Shanker R. A Quasi Shanker Distribution and Its Applications. Biometrics & Biostatistics International Journal. 2017;6(5):338–348. <u>https://doi.org/10.15406/bbij.2017.06.00156</u>.
- 4. Cordeiro GM, Ortega EMM, Lemonte AJ. The Exponential-Weibull Lifetime Distribution. Journal of Statistical Computation and Simulation. 2014;84(12):2592–2606. https://doi.org/10.1080/00949655.2013.797982.
- Merovci F, Elbatal I. Weibull Rayleigh Distribution: Theory and Applications. Applied Mathematics & Information Sciences. 2015;9(4):2127–2136. https://doi.org/10.12785/amis/090445.
- Nasiru S. Serial Weibull Rayleigh Distribution: Theory and Application. International Journal of Computer Science and Mathematics.2016;7(3):239–244. <u>https://doi.org/10.1504/IJCSM.2016.078197</u>.
- 7. Mohammed MJ, Hussein IH. Study of New Mixture Distribution. In: Proceedings of the International Conference on Engineering and Applied Sciences. 2018;14:1–8.
- Abdullah M, Akma N, Shitan M, Merovci F. New Extension of Burr Type X Distribution Properties with Application. Journal of King Saud University – Science. 2018;30(4):450–457. https://doi.org/10.1016/j.jksus.2017.05.007.
- Jalil M, Hasan MI. Some Estimation Methods for New Mixture Distribution with Simulation and Application. IOP Conference Series: Materials Science and Engineering. 2019;571(1):012014. <u>https://doi.org/10.1088/1757-899X/571/1/012014</u>.
- 10. Mohammed AT, Hussein IH. Density Estimation for Right Censored Data Using Hybrid Breslow and Semi-Symmetric Wavelet. Journal of Engineering and Applied Sciences. 2019;14(1):1–8.
- Hameed BA, Salman AN, Kalaf BA. On Estimation of P(Y < X) in Case Inverse Kumaraswamy Distribution. Ibn AL-Haitham Journal of Pure and Applied Science. 2020;33(1):414–428. <u>https://doi.org/10.30526/36.4.2977</u>.
- 12. Mohammed AT, Mohammed MJ, Salman MD, Ibrahim RW. The Inverse Exponential Rayleigh Distribution and Related Concepts. Italian Journal of Pure and Applied Mathematics. 2022;47:852–861.
- Wang FK. A New Model with Bath Tub-Shaped Failure Rate Using an Additive Burr XII Distribution. Reliability Engineering & System Safety. 2000;70(3):305–312. <u>https://doi.org/10.1016/S0951-8320(00)00066-1.</u>
- 14. Shanker R. Akash Distribution and Its Applications. International Journal of Probability and Statistics. 2015;4(3):65–75. https://doi.org/10.5923/j.ijps.20150403.01.

- 15. Kilany NM. Weighted Lomax Distribution. SpringerPlus. 2016;5:1862. https://doi.org/10.1186/s40064-016-3540-0.
- 16. Oguntunde PE, Ilori KA, Okagbue HI. The Inverted Weighted Exponential Distribution with Applications. International Journal of Advanced and Applied Sciences. 2018;5(1):46–50. https://doi.org/10.21833/ijaas.2018.01.007.
- Raheem SH, Mansor HK, Kalaf BA. A Comparison for Some of the Estimation Methods of the Parallel Stress-Strength Model in the Case of Inverse Rayleigh Distribution. In: Proceedings of the First International Conference on Computer Applications and Sciences. IEEE; 2019. p. 22–27. <u>https://doi.org/10.1109/IOPCAS48143.2019.9073407</u>.
- Dong J, Huang CX, Ahmed S, Qasim Z. An Efficient Shrinkage Estimators for Generalized Inverse Rayleigh Distribution Based on Bounded and Series Stress-Strength. Journal of Physics: Conference Series. 2021;1897(1):012054. <u>https://doi.org/10.1088/1742-6596/1897/1/012054</u>.
- Mohammed, M.J., & Mohammed, A.T. (2021). Parameter Estimation of Inverse Exponential Rayleigh Distribution Based on Classical Methods. International Journal of Nonlinear Analysis and Applications, 12(1), 935–944. <u>https://doi.org/10.22075/ijnaa.2021.4948</u>.
- Mohammed MJ, Mohammed AT. Parameter Estimation of Inverse Exponential Rayleigh Distribution Based on Classical Methods. International Journal of Nonlinear Analysis and Applications. 2021;12(1):935–944. <u>https://doi.org/10.22075/ijnaa.2021.4948</u>.
- Jabbar NAA, Kalaf BA, Umar YM. Truncated Inverse Generalized Rayleigh Distribution and Some Properties. Ibn AL-Haitham Journal of Pure and Applied Sciences. 2023;36(4):414–428. <u>https://doi.org/10.30526/36.4.2977</u>.
- Shamran MA, Mohammed AA, Abdullah IH. Comparison between Modified Weighted Pareto Distribution and Many Other Distributions. Baghdad Science Journal. 2023;20(4):1108–1115. <u>https://doi.org/10.21123/bsj.2023.20.4.1108</u>.
- Ramos PL, Louzada F, Ramos E, Dey S. The Fréchet Distribution: Estimation and Application—An Overview. Journal of Statistical Theory and Practice. 2020;14:23. <u>https://doi.org/10.1007/s42519-020-00113-7</u>.
- 24. Hussein LK, Hussein IH, Rasheed HA. A Class of Exponential Rayleigh Distribution and New Modified Weighted Exponential Rayleigh Distribution with Statistical Properties. Ibn AL-Haitham Journal of Pure and Applied Sciences. 2023;36(2):3044. <u>https://doi.org/10.30526/36.2.3044</u>.
- Carrasco JMF, Ortega EMM, Cordeiro GM. A Generalized Modified Weibull Distribution for Lifetime Modeling. Computational Statistics & Data Analysis. 2008;53(2):450–462. <u>https://doi.org/10.1016/j.csda.2008.08.023</u>.
- 26. Abramowitz M, Stegun IA. Handbook of Mathematical Functions: With Formulas, Graphs, and Mathematical Tables. New York: Dover Publications; 1965. <u>https://doi.org/10.1119/1.15378</u>.
- 27. Linhart H, Zucchini W. Model Selection. New York: John Wiley & Sons; 1986.
- 28. Prudnikov AP, Brychkov YA, Marichev OI. Integrals and Series. New York: Gordon and Breach Science Publishers; 1986.
- 29. Azzalini A. A Class of Distributions Which Includes the Normal Ones. Scandinavian Journal of Statistics. 1985;12(2):171–178. <u>https://www.jstor.org/stable/4615982</u>.
- 30. Meeker WQ, Escobar LA. Statistical Methods for Reliability Data. New York: John Wiley & Sons; 1998.